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Note : Answer questions from all the Sections as 

per instruction. 

Section—A 

Note : Answer any two questions from this Section.  

  2×20=40 

1. (a) Why do we add a stochastic error term in a 

regression model ? 

(b) What are the assumptions of the classical 

regression model ? Interpret these 

assumptions.  

2. (a) Estimate the parameters of the regression 

model : 

Y Xi i ia b u     

by Ordinary Least Squares (OLS) method. 
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(b) Distinguish between the error term  iu  

and the residual  ˆiu  and show it in a 

diagram. 

3. Explain how measurement error in the 

independent variable affects the estimators in a 

regression model.  

4. What is meant by autocorrelation ? What are 

its consequences ? Explain one of the methods 

to detect autocorrelation. 

Section—B 

Note :  Answer any four questions from this 

Section. 4×12=48 

5. Consider the functional form : 

 
 1 2 X

Y t tu
t e   

Describe how the above regression model can be 

estimated by OLS method. Interpret the 

parameters of the model. 

6. For a multiple linear regression model, derive 

the coefficient of determination (R2). Interpret 

the coefficient.  
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7. The Cobb-Douglas production function is given 

by : 

32
1 2 3Y = X X ue


   

where Y is output, X2 is capital and X3 is 

labour. Explain how we can test for the 

presence of constant returns to scale in the 

above function.  

8. What is meant by heteroscedasticity ? What are 

its consequences ?  

9. Describe the steps one should follow in carrying 

out an econometric study.     

10. What is meant by estimation of a parameter ? 

What are the methods of estimation of a 

parameter ?  

11. Explain why we should avoid regression models 

passing through the origin. 

Section—C 

12. Write short notes on any two of the following : 

2×6=12 

(a) Breusch-Godfrey (BG) Test 

(b) Dummy Variable Trap 

(c) Adjusted-R2 

(d) Power of a Test 
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Y Xi i ia b u     

 iu  ˆiu  

&

4×12=48 

1 2X
Y t tu

t e
 

   
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(R2)

&

32
1 2 3Y X X ue


    

Y ] 2X 3X

]
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